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Objective Intermediate Part Second ﬁ* * *
Paper Code STATISTICS (Objective )
8185 Time: 20 Minutes Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the

Mo.1 Felevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles.

Q.No. Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.

VQ:S.# Questions A B C D
Any hypothesis which is tested for rejection Null Alternative Statistical None of
1 under assumption that it is true is called: hypothesis hypothesis hypothesis these
2 | The point estimator of "p" is: ‘ X X X b4
T n - . : Positively None of
3 | If E(0) =6 then Ois: Biased Unbiased biased these
4 |If 6> =5andn=2then G% is: 4 2.5 3 5
5 | A sample is regarded as a subset of: Data {i@ Distribution | Population
. LN
O
6 | Any value calculated from the sample is called: Parametg;r}Q O\Sétistic Proportion Mean
O K
' = _ \% 8
. lfy-.~5x+ 10 and X ~ N (10, 25) then mean @ 60 70 135
A ofy is: M
8 | The mean of the standard normal dlStl‘lbUth@ 1 K 0 2
4 . e . \ O\> (o) 2
9 | The parameters of normal distribut : p and = B and o= np and nq nand p
10 | One byte equals: @} 8 bits " et \dbits 6 bits 12 bits
{1 | Increase in demand of ice is an example of: Secular trend Sea.l'so.nal Cys:ht_:al Rar_ndc_;m
variation variation variation
12 | Methods of secular trend are: 2 3 4 5
13 !f the class. frequency (AB) = 0 then value of Q 0 1 -1 —1 to+]
is equal to:
) In testing independence in 2x3 contingency | . g 3
i table, the number of degree of freedom in xz is:
15 | Correlation is said to be positively perfect if: Iy = Iyx r=0.98 r=+1 r=0
16 | The two regression coefficients have always: Opposite sign No sign Same sign D‘ﬂ;l:ll;u o

17 | Il y=2-+0.6x then the slope of line is: 2 2.6 0.6 Zero
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3. Write short answers to any EIGHT parts.
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Intermediate Part Second Rol!l No.

STATISTICS ( Subjective )
Time: 02:40 Hours Marks: 68

SECTION -1
Wrile short answers to any EIGHT parts. 3 516
(i) How much area of the normal distribution lies between p—2c and p-+2c 70@ pa kcity_org %o
(ii) Write the equation of normal distribution N(u , o?). * €
(iti) If X ~N(25, 25), find mean deviation.
(iv) Find Qi of a normal distribution whose mean (p) is 100 and variance (c?)is 25.
(v) What is the relation between mean, median and mode of a normal distribution?

(vi) Interpret the statement: A 90% confidence interval for pis (48.4 , 56.6)

(vii) Describe point estimation.

(viii) Formulate the null and alternative hypothesis for the statement: “No more than 30% people pay Zakat”.
(ix) Define composite hypothesis.

(x) Give an example of type-II error.

(xi) What is computer hardware?

(xii) Define input devices in computer.

16
(i) Define complete enumeration.

(i) Express the concept of “sampling distribution” of any s

(ili) Ifn=36and S.E(X)=2. Find S.E(X)if sample siz C% sed to 144.

(iv) A population consists of two values as 4 and 6 p0351ble samples of size n =3

with replacement
(v) Write any two properties of sampling dis@@x of sample proportions (P).
(vi) What is the basic aim of sampling? o)

(vil) Write at least 2 properties of leas € regression equation y=a-+bx.
(viii) Define the term residual in r
(ix) If > xy=300300, ) x=
(x) Define no correlation.
(xi) What is meant by product moment coefﬁuent of correlation?

(xii) Given ¥=11.8+2x and X = 5.5+ 0.5y find Karl Pearson’s coefficient of correlation.

L LY= 6000 and n= 100 Flnd covariance Sxy.

. Write short answers to any SIX parts. 12

(i)  What is meant by independence of attributes?
(i) Ifn=600, (A) =240, (B) =270, what would be the value of (AB), if A and B are independent.

(iii) If A’s are 60% and B’s are 40%. Find percentage of AB’s if A and B are independent.
(iv) What is the cell frequency?

(v) Define consistency of data.

(vi) What is the principle of method of least squares?

(vii) Give the two examples of secular trend.

(viii) Describe any two disadvantages of moving average method.

(ix) Given X=1, y= 8. Find the value of “a” if byx=2.

' SECTION —II  Attempt any THREE questions. Each question céirries 08 marks.

. (a)If X ~ N(36,25) find median, mode, Dy and Pe7 04
(B)If Q1 =3, Q3= 10, findpand o of the normal distribution. 04
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. (a) Take all possible samples of size two with replacement of the population 2 , 2, 8. Show that
the population mean is equal to the mean of means of all samples and population variance
is twice the variance of samples means.

(b) A population consists of four values 4, 10, 15, 20. Take all possible samples of size two
without replacement from this population. Find the proportion of even number and verify that:

~av_ [PQ({ N=n
S.E(p) T( N=1 ) @
. (a) A restaurant wishes to estimate the average amount of money a $pends for lunch. A random
sample of size n = 36 is selected and the sample mean X=Rs 240. Assuming ¢ =Rs. 2.4.
Find 95% confidence interval for p Q (V\{?
(b)For the given set of data, test Ho : |t = 73 against Hy 3,n=15, X=70,s*=9. Use o =0.01
. (a)Find regression equation of X on Y for the foldata:
X {1514 ]12]10 ’&
Y |11 1811716 |- <>@
(b)Compute correlation co-efficient b Xand Y:
X1 4|61 [ 2\
Y| 819 ] 35Q{Y
7

. (a) Compute rank correlation coefficient from the following data:
X |4227]61]24|47
Y [85(52({63[48]8.6
(b)Compute 4 months centered moving average for the following data:
Year | Jan | Feb | Mar | Apr | May | Jun | Jul | Aug
Values | 23 | 26 | 78 | 30 | 31 | 35| 37| 32
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Koll No. :
Obyective Intermediate Part Second (New Scheme) *
Paper Code STATISTICS ( Objective )
8181 Time: 20 Minutes Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fili the

Q.No.1 relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles.

»X%2 Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles btank,

S.# Questions A B C D
1 | The parameters of normal distribution are: nand o nand p pand o mand p
2 | Inanormal distribution B, =: 0 3 1 6745
3 | In a normal distribution p + 2¢ has area: 6827 9545 9973 6745
4 Numerlcal value calculated from population is Piumeder Statistic Samp}mg Samplmg
called: unit design
5 | The complete list of all the sampling units is called: Samp'ing @J%; Target Bampied
frame | ~\de population | population
o o Non—r%ﬁg{t\ifudgemem Purposive Random
6 | Another name of probability sampling is: sampling sampling sampling
By decreasing the level of confidence, the precision N>
7 of confidence interval is: @reased Increased Equal Unchanged
8 | Which is a simple hypothesis? @ n<l1s p>1s pn=15 pel1s
A
N
9 | Accepting Hy if Ha is false is: A\{\BQ}) No error | Type-1 error | Type-II error o
S
10 | In regression dependent v. is assumed to be: Fixed Random Constant Zero
11 |Ifr>0and b >Othen b is: <0 >0 0 <0
12 | In correlation both variables are: Random | Non-random | Constant Fixed
(AXB) i
13 lal< n ThE:Astagiatic btaesy Ncegative Positive Zero Symmetrical
A and B is:
14 | The coefficient of association lies between: -1 and +1 OQand 1 -land 0 —aand +a
15 | Depression in business is: S:r (;::?r Cyclical Seasonal Random
. e & . : ; i Scatter
16 | The graph of time series is called: Histogram Ogive Historigram diagram

Primary Secondary

storage storage Main storage | All of these

17 | Compact disk is an example of:
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Intermediate Part Second (New Scheme) Roll No.
STATISTICS ( Subjective ) ; : s
Time: 02:40 Hours Marks: 68 O@ pakmty'or%
SECTION -1
2. Write short answers to any EIGHT parts. 16

(i)  What is normal probability density function?

(i) What is the value of mean deviation (MD) and quartile deviation (QD) for standard normal distribution?
(ili) What is thc mean and variance of standard normal variable?
(iv) What is the range of normal distribution?

(v) Inanormal distribution, what are the values of p; and ps.
(vi) What is estimator?

(vii) Ifx=6,n=50, find P.

(viii) What is null hypothesis?

(ix) What is composite hypothesis?

(x) Define critical region.

(xi) Describe any two output devices.

(xii) Define hardware.

3. Write short answers to any EIGHT parts. 16
(i) Define sample. @@
(ii) Define sampling frame. @
(1if) Define sampling technique. O

(iv) Describe simple random sampling without replacement. @%

(v) Define sample size.

(vi} GivenN =400 ,n=100and cs; =20, find o° if S%Qis done without replacement.
(vii) Define slope of regression line.

(viii) Define the term residual. @
(ix) Given L (x-X){(y-y)=100,n=1
(x) Define correlation.

(xi) Describe the range of correlati
(xii) Describe properties of corr

4. Write short answers to any SIX parts. 12
(i)  Define association of attributes.
(ii) Differentiate between class and class frequency.
(iii) Given (AB)=95,(AB)=55, (aB)=85, (af) =45, find the coefficient of association.
(iv) What is the relation between two attributes if Q =+1 ?
(v)  Write the formula for Pearson’s coefficient of mean square contingency.
(vi) Differentiate between signal and noise in a time series.
(vii) If Y =10-2x, find the trend values forx=0, 1,2, 3,4, 6
(viii) Suggest any three methods of obtaining secular trend.
(ix) What are different components of time series?

SECTION —II  Auempt any THREE questions. Each question carries 08 marks.

10" find byx.

efficient.
ion coefficient (any two).

5. (@If'x’ isN(100,64),find ()P (90<x<115) (i)P(x=110) 04
(b)In a normal distribution, g = 20 and o = 5. Find two points containing middle 95% area between them. 04
6. (a)A population consists of the elements 1, 3, 5, 7, 9. Draw all possible samples of size 2 without
replacement and find the means of all possible samples. 04
(b)Make sampling distribution of sample means of part () and find mean and variance of sampling
distribution of means. 04

( Continued P/2)
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7. (a)Giventhat n=8, X =100 and (X~ X)’ = 4600

Assume that above information is taken from normal population. Find 95% confidence interval for p. 04
(b)GiVCH n =50 R —)-{_1 =87 s S| =6

n=50 , X,=78 , 5,=5 %
Test the hypothesis Hy : oy —p, > 12 against the alternative H, : —@ a = 5% (Level of significance). 04

8. (a)Compute the regression coefficients in each of the follow ases: 04
n=7, 2x-X)(y-y)=148 , 5 =7933 , S,=

(b)For a given set of data, we have  r=0.5 , @?gg (y—-

=120 , S,=8 , T(x-%’=90.

Find the number of pairs of values. Q 04
9. (a)Test the independence between gends ing for fish use a = 0.05 04
~\V Males Females
Like fish 80 80
Dbimot like fish 20 20
(b)Compute trend values by semi-average method for the following data: 04

Years | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007
Values | 847 | 1024 | 1186 | 1405 | 1664 | 1958 | 2258
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